A line [ passes through the points A(1,-2,1) and B(2,3, —1). At what point does this

line intersect with the zy-plane?
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Find the equation of the plane that passes through the point (1, 1, —2) and is perpendicular to

both the planes 2z + 2y — 2 =1 and = + 3z = 2.
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[dentify the surface defined by the equation z* — y* 4+ 2z — 2% = 2.
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One vector parallel to the tangent to the curve
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A particle is moving with acceleration a = (0, 6t, 4). If the position at time ¢ = 1 is r(1) =

(0, 5, 1) and the velocity at time ¢t = 0 is v(0) = (-2, 2, —1), then the position at time ¢ = 2 is:
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The arclerigth of the curve 7(t) = 2ti +t2j + (Int)k for 2 <t < 4 is:
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Evaluate
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Find the directional derivative of the function f(z.y.z) = 2%y + y*z at (1,2,3) in the

direction toward the point (3, 1,5).
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Which of the following is an equation for the plane tangent to the surface

>

> = (J.- 4 .‘I'_’)l,’.'i at the I)Uillt (.2.2 .-))’

let F - Li"—l—‘jl‘).!} -t fo  2=¢ Q(‘:(_ ‘12 )'/3 is a leve|

S-U-—(Fam of F
A z=z+y-2
@ Gk LR know sF 15 narma|
J3z=x+y+2
* & lef soffee [curve
C.3z=z+4+ 2 G Ehhas Cem Le wid as
D. 4z = 6z + 8y — 20 ta nermal weetor of EAe
AA?.A-E "
E.4dz=zx+y+4 5 Y N P\R €
~ ey S A 2~
VF‘-<3u+j) (1%5’ 3(5(7:"3) hj), -]>
X 2
- ¢ 1D

> _ I v
D!-:<3 3-l> ~ P W A5 R fov
’ / oWl ﬁaf\J{uf P[ar\c

4 < 10/ 11 >




Draw Erase Select Point Add @) View

[~

plone w/ P <’3‘—’ -1 ah  ponmk (2 1 )

v

!

{ (
-g(i—1)+~§'CU—L)-l-(ivl): O

*1 )+ y-v) -3 Cx-vy:=o
X+j~%%.:-L

32 = i+3r1

A




